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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 14 questions. All questions are

compulsory.

(it) This question paper is divided into three sections — Section A, B

and C.

(iti) Section A comprises of 6 questions (. no. 1 to 6) of 2 marks each.

Internal choice has been provided in two questions.

(iv) Section B comprises of 4 questions (Q. no. 7 to 10) of 3 marks each.

Internal choice has been provided in one question.

(v) Section C comprises of 4 questions (Q. no. 11 to 14) of 4 marks
each. Internal choice has been provided in one question. It also

contains two case study based questions.

(vi) Use of calculator is not permitted.

SECTION A

Question numbers 1 to 6 carry 2 marks each.

1. Find the roots of the quadratic equation 3x2—5x + 2 =0. 2
2. (a) Which term of the AP 2, 11, 20, 29, ..... will be 99 more
than its 25 term ? 2
OR
(b) Find the number of odd numbers between 20 and 70. 2
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AT
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5. TiHfafgd sied w1 sgetsh Fd il

i FRIRAT

0-10 3

10 — 20 9

20 - 30 15

30 -40 30

40 - 50 18

50 — 60 5

6. 3MWIIH T (empirical relation) & TN & 37 Afhsl w1 HTETH

T i, e agaeh 12-4 q1 7189 105 7 |
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&1 IR Hi 19 I |

8. U THHIV PIys ft S=TE 3k SMYUR A 7 At HH B | Al 3Ub ol

6 oarg 13 T B, d@1 ST g YSATST hl e I HIRTT |
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3. (a) The two tangents drawn from an external point P to a
circle with centre O are PR and PS. If £ RPS = 65°, then

find the measure of £ ROS. 2
OR
(b) Prove that the tangents drawn at the end points of a
chord of a circle make equal angles with the chord. 2

4, A conical tent has the diameter of the base 24 m and slant

height 13 m. Find its volume. 2
5.  Find the mode of the following distribution : 2
Class Frequency
0-10 3
10 - 20 9
20 - 30 15
30 -40 30
40 - 50 18
50 — 60 5
6. Find the median of a data, using an empirical relation, when it
is given that Mode = 12-4 and Mean = 10-5. 2
SECTION B

Question numbers 7 to 10 carry 3 marks each.

7. If the sum of the first 6 terms of an AP is 36 and that of the
first 16 terms is 256, find the AP. Also, find the sum of its first
10 terms. 3

8.  The altitude of a right triangle is 7 cm less than its base. If the
length of the hypotenuse is 13 cm, then find the length of the
other two sides. 3

430/B/5 Page 5 P.T.O.




©
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HAYAT
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Qs 1
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ATl THH il B | 4
HAAAT
(@) 5 4l frsa I T 99 W g UE i@ S wER 60° 6
HI0T W Fh! &, I AT A & foTe a1 & ug fafaw | 4

12. 100 #. =18 i Th HHAR & e 4, th @Y & ey o e &
JAITHA DIV HAM: 45° YT 60° B | @Y hH SR I hiT |
(/3 = 1-73 <fifom) 4
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10.

PA and PB are two tangents to a circle with centre O, from an

external point P. If £ AOB = (3x — 7)° and £ APB = (2x + 2)°,
find x. Also find the measure of £ APO.

(a)

(b)

An observer 1-5 m tall is 20-5 m away from a tower
22 m high. Determine the angle of elevation of the top of

the tower from the eye of the observer.

OR

The length of a flagstaff, standing vertically on a vertical
pedestal, is twice the length of the pedestal. The angle of
elevation of the top of the pedestal as seen from a
distance of 30 m from its foot is 30°. Find the angle of
elevation of the top of the flagstaff from the same point.

SECTION C

Question numbers 11 to 14 carry 4 marks each.

11.

12.

(a)

(b)

Prove that the lengths of the tangents drawn from an
external point to a circle are equal.

OR

Write the steps of construction of a pair of tangents to a
circle of radius 5 cm, which are inclined to each other at
an angle of 60°.

From the top of a tower 100 m high, the angles of depression of

the top and bottom of a pole are observed to be 45° and 60°.
Find the height of the pole. (Take /3 = 1-73)
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Th{UT FAEIAT - 1

13. 9Rd ¥ COVID-19 & SiA-ars™@ ot a1 Jrar 8, 1 I A,
2020 H g3 A1 | { oW H AAEE A FH W A 9@ S T
TR o7 TS S fop anft oft 5 Wi R
1 gl # foreft Tk T Ueh omedaTal ® qiRaet UM <hl 311 ol sed
T AT B

g (a5 F) | ofe # wer
15 -25 6
25 -35 11
35 —-45 21
45 — 55 23
55 - 65 15
65 —-175 4

TR AROM o FA ¥ Frefafad & W i
(%) Tope o1y ot & TR 6t T srfushan 2 2 2

(@) fau T sAterel § SgaTsh 1Y qAT HIET 1Y T HIT | 2
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Case Study -1

13. COVID-19, also known as Coronavirus, started in India in
March, 2020. In spite of complete lockdown in the country, the

disease became a pandemic and is still going on.

The following table shows the age distribution of patients

admitted on a certain day in a hospital :

Age (in years) Number of patients
15-25 6
25 - 35 11
35 —45 21
45 - 55 23
55 — 65 15
65— 175 4

Using the above table, answer the following :

(a) In which age group is the number of patients maximum ? 2

(b) Find the modal age and the mean age from the given
data. 2
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Case Study - 2

14. To make the teaching — learning process easier, creative and
innovative, a teacher brings clay in the classroom to teach the
topic of mensuration. She forms a cylinder of radius 6 cm and
height 8 cm with the clay. Later on, she reshaped the same
into a sphere.

Based on the above, answer the following :
(a) Find the radius of the sphere.

(b) Find the ratio of the total surface area of the cylinder to
the surface area of the sphere.
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